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(2)

(b) Which of the following compounds

(c)

(d)

24P/999

shows two PMR signals?

Y H30~©~ca3

(iii) /U\
(i) HSC'—I!;JI—(E—_CH 4

Which of the following pairs gi
same osazone? S gives the

() Sucrose and fructoge

(i) Mannose and fructose

(iii) Glucose and galactg
se

(iv) Maltose and lactose

Which of the followin
of thermoplastic pla

(i) Teflon

(ii) Dacron

gis not an
stic? SXSple

(iii) Epoxy resin
{iv) Nylon

( Continued )

(e)

2. Answer th

(@)

(b)

()

(d)

24p/999

(3)

Azo dye is produced by the interaction
of an aromatic diazonium chloride with

(i) aliphatic primary amine
(i) nitrous acid

(iii) phenol

(iv) aromatic aldehyde

UnNIT—I

e following questions (any five) :

Why— does nb—an" transition for
carbonyl groupP shift to lower wave-
length on increasing the polarity of
solvent?

stinguish among 1%,2°

1d you di

and 3° amines

scopy?

f two different

show molecular

 One of them
= 69 and the

ak at m/z

shows 2 D2° P’z "ygentify the cysler

—_
= .

What is
related to t

strength?

2x5=10

( Turn Over )



(4)

(e} How can isti
you distinguish b
i .
and .t{'ans-stilbene with tlfe tIafrl1 o
UV-visible spectroscopy? P

1] SH3OH is good solvent for UV-visi
. I]i:ai(‘actl-osc()];)y but bad solve -
i rared spectroscopy. Explain blz ﬂfor
efly.

3. Conjugated di
diene has hi
high 3
max th

isolated diene
example. xplain - with  suitable

Or

The mass s

pectra of a h

ydr:
%:[u:ic;?;t molecular ion p::irb:n show an
= 1ble al

character N;ﬁ:qmm indicateg m/e 120.
1-26 (d 6.H spectrum indicat afomatic
Detenr;ine &12-88 (m, 1H) and 7-e2s piena. at
and explai ® Sircture of the 8 (s, 5H).

plain the spectral ats hydrocarbon

4. Answer the
f X
ollowing questions (an
y two) :

(a) The P .
c’bSEWI;fIdR signal for yi .. 4x2=8
at hlgh 8-— yhc proton »

acetyleni val
tylenic proton, gy lu.e Compared t
24P/999 Plain, 0

( Continued )

(b)

()

(b)

24P/999

(5)

An organic compound having molecular

formula CaHgO gives characteristic
band at 275 nm (€ max17) in its UV
spectrum. In infrared spectrum,

two peaks at 2940—2855cm‘1 and

1715 cm ™~ are ob

Identify the compound and explain the

with the help of

What is bas€
IR Spectroswpy,
i ort

H-bonding
nitrophenol?

mant ;
Glucoseé, Expl ain.

same osazone- )
D g]_LlCOS& 0}
onVCI't
How will you o
D—mannose?
( Turn Over )



(6)

(c) Draw the conformers of o-D and B-D
glucose. Which conformer
stable?

is more

(d) Why does anomeric —OH group
undergo methylation with CH;0H and
HCI under reflux but others do not?

Explain  mutarotation  with probable

mechanism. 3
UNIT—I11

Answer the following questions : 2x3=6

(a) What do you mean by the terms
‘chromogen’, ‘bathochrome: ‘auxo
chrome’ and hypsochrome ’

(b) B-carotene

is orange :
ed 1
Account for 11 colour,

the origin of its colour,

(c) Discuss briefly the qu:
quinongj
colour and Constitutiononold theory for

(@) Bismark brown Liaxas
(b) Malachite greep

24P/999

{ Continued )

(7)

Or

when
Account for the colour change

: : id-
: :indicator in act
phenolphthalein 18 used as 1 "
base titration.
unrt—IV .
A of free-radical
9. Discuss the mecl?am;aﬁng AIBN as free- .
addition polymerization
radical generator-
% tactic
; diotac
otes on jsotactic, Y2
Write short n
and atactic polymefs-
2x3=6
2 estion
10, Apswer the followiné q " Lt
@ What is natwel PO
. d'ff:r from gﬂtta'perc y
1 |
Jastici?
on
(b) Write a short pots es fBakelite
us
W wtedown BT
C rite
and PVC
* kK
cBes) € 14
M TDC oM™
E
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